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INSTRUCTIONS / fadwr:

1. Examinee are required to answer in their own words as far as practicable.

qYeTTeft Jomig e Trssl H B SN < |

2. This question papers have four sections: A, B, C and D. Total number of
questions are 52.

9 UYS H IR @S — A, B,C Td D © | {1 YT DI GEAT 52 ¢ |

3. There are 30 Multiple Choice Questions in the Section A. Four options are given
for each question, choose one of the correct options.

wrs A H gl 30 dgfddedid U €| Ydd U @ TR fddbed feu v
ST ¥ U Ael b &1 a9 DIfom |

4. Section B — Question numbers 31 — 38 are very short answer type. Answer
any six of these questions. Each question carries 2 marks.
EUS B # YT AT 31 — 38 AT AE IR g¥A 2| 3 9 Dl v
Ul B SR ST | U TR BT 719 2 i iR 2|

5. Section C — Question numbers 39 — 46 are short answer type. Answer any six
of these questions. Each question carries 3 marks.

U C # YI9 AT 39 — 46 oY I U 2| 30 9 fHE v weAl
P IAN SIFTT | U U BT A9 3 3id iR 2 |

6. Section D — Question numbers 47 — 52 are long answer type. Answer any four
of these questions. Each question carries 5 marks.

wWUs D § yvT =T 47 — 52 el IOV 9T ¥ T ¥ Rl IR
gl & ITX SIOTT | Uhd U Bl A 5 3idh eriRa 2|
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Section-A (EIUsS-®) (1x 30 = 30)

1. Which is the 27" term of the sequence 5, 14, 23, ............. ?
3T 5, 14, 23, &1 27at ug fifda # @ 7 2
(a) 239 (b) 100 (c)101 (d) 900

2. Inan A.P. firsttermis 1 and last termis 11. If the sum of n terms is 36, the value of
n will be :

T AR S6l | U8l U 1 ® SR 31f<ad U< 11 © | IS n Y&l &1 I1T 36 B Al n &I A
R :
(a) 10 (b) 7 (c)6 (d)5
3. The third term in G.P.is 4. The product of first5term is :
Teh TUNIR 216] § RRT Ug 4 € | 39 U= 5 Ual &l JUhd & —
(a) 256 (b) 2,048 (c)512 (d) 1,024

4. 1f ®p, = 2,730 then the value of r will be :
afe Pp, =2,730 8T @ r &1 HE BRI —
(a)3 (b)4 (c)5 (d)6

5. If"c;; ="cgthen nis equal to :
g "C1 ="Ccgdd N IR %\, ]
(a) 20 (b)12 (c)6 (d) 30

6. How many different word of 2 letters can be formed out of the letter of the word
CAT?
CAT & & 3MeRI A 2—2 eI & fhad HIE 99 ADhd © 7
(a) 8 (b)6 (c)3 (d)2

7. 1f"P3=60then the value of nis :
Ifg "P3=60, @I N BT A9 2—
(a)3 (b)5 (c)9 (d) 20

X? X
8. The value of 5x 5

(a)o (b)1 (c)5 (d)25
9. Inarow matrix, the no. of row is:
e e ¥ dfdcal @ | g © )-
(a)1 (b) 2 (c)3 (d) None of these (37 & ®Ig ==21)

B 1] . [4 7 .
10.1f A= 6],3_5 2],thenA+B.
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HT%{A=[§ é],B=[§ Z],eﬁA+B .-

12 7]

35 12 > 1)

ol o @ 7

11. (IfA={a, b, ¢, d}, B={b, d, e, f} then the value of A n B will be) : If uniVersel set
x ={1.2.3...20}

e A={a, b,c,d.},B={b,d,e, f,}aT ANB
(@) {a,b,c,d,ef) (b){b,d} (c){d,ef} (d){c,d, e}

12. If A={p,q,1,s}, B={q, s, t}, C={m, q, n},then the value of C— (AN B)
gt A={p,q,r,s},B={q, s, t,}, C={m, g, n},d C-(ANB) &1 & g1T

37]

(a) 5 6

(d)

(@a){m,n} (b){p,at  (c)(r,s} (d){p, r}
13. The differential coefficient of 3x* w.r.t. x will be:
X @ 10eT 3x* T 3rdeher {[OTich BN :
(a) 16x (b) 16x° (c)12x* (d) 4x°

14. Ify =2 log x then Z—z is equal to:
afs y=2logx ar Z—z KRR &
(a) X (b) 2 (c)o (d) 2/x

15. [(2x+3)° dx=?

6
(a) (2x;—3) +C

2x+3)*
@x+3)* |
8

(b) C

(2x+3)°
() ——

(d) NOne of these (z75 & @Is =18l)

16. The best measure to central tendencyis A.M is it true ?
BRI Ui BT |ArH AT TR AT 2 | T I8 9 7

+C

(a) yes (b) No

17. Mean of 5, 8,11, 16, 15 is:
5,8, 11, 16, 15 BT ALY
(a) 10 (b)11 (c)12 (d)13
18. Median of 80, 100, 90, 170, 60, 50, 40.
80, 100, 90, 170, 60, 50, 40 &1 ATfEIHT & —
(a) 80 (b)170 (c)90 (d) 60
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19. Median is:
AP 2

(a) Most frequent value, Fe1 21fefd qR T dTelT AIF
(b) Least frequent value, e &H dR 1 dTell AT
(c) Center of gravity, T &=

(d) Middle mostvalue, = &1 A4

20. Mode is:
AP &
(a) Most frequent value, Fa1 21fefd IR T dTell AF
(b) Least frequent value, Is%1 &1 IR T dTell A9

(c) Middle mostvalue, &= &1 A

(d) Representing majority out of total frequency, % IRWR A Fdltd & FHROT B

21. Which of the following is true?
frifhd § ®F—a1 I 87

(a) Mean= 3 Median —2 Mode, Areg =3 HIfEgdHT — 2 IglD
(b) Median = 3 Mode — 2 Mean, A1fed®T = 3 dgeld — 2 A
(c) Mode = 3 Median —2 mean, 98 = 3 HIEIHT — 2 AEY
(d) Mode = Mean + Median , 9gcic = Y + Hifede

22. Which of the following relationship is correct?
7 % ¥ PH- e 8l 87

(a)A.M.= V/G.M xH.M. (b)H.M.=+vA.M.X G.M (c)G.M.=+/G.M.x H. M.

(d ) G.M =A.M+H.M.

23.The geometric mean of two number 8 and 18 shall be:
3T 3T 8 3R 18 BT UK AR BT

(a) 12 (b) 13 (c) 15 (d) 11.09

24. Least square method is used for calculating trend:
AqH I AT BT TIRT IUAT S B & forq foam S &

(a) True, &2 (b) false, Te/@  (c) Both (d) None of these
25. The mostimportant factor causing seasonal variations are:
AT IR BT I B dTel Fa A@qol HRE
(a) growth of population, ST gfg
(b) change in fashion " ™ # uRad+
(c) weather and social customs #1H iR amTfas AfaRars
(d) technological improvement de-iifd g
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26. The probability of drawing a red ball from a bag containing 4 red and 5 white balls
is:

4%6%5Wﬁﬁ6®wﬁﬁﬁﬁwmmﬁﬁﬁwwaﬁmﬁw%‘:
(a) 4/5 (b)3/5 (c)1/5 (d)4/9

27.The probability of 53 Sundays in randomly chosen leap year is:
T TGS AT g MY If—af # 53 AfdaR M Wil @
(a)3/7 (b)1/7 (c)2/3 (d)2/7
28.Inasingle throw of two dice the probability of getting a total greater than 8 is:
T U U R Bdh R 8 3 31f&d ART U 8 & Wiiddr &
(a) 8/36 (b)12/36 (c)5/8 (d)4/16
29. At the time of interpolation continuous series is not cumulated under:
SMTRATOE B AT Faq Aol &1 ... A 2] 9717 SIar &
(a) Binomial expansion method fgug fovar ofa #
(b) Netwon’s method =g fd #
(c) Lagrange’s method <Rt afa #
(d) All the above S &+ #

30. Binomial expansion method is based on:
fgue fawar Ofa smenRa &

(a) Multiplication theorem v W W
(b) Additive theorem I I W)

(c) Binomial theorem fgue v W

(d) None of these 37 & P =&l

Section-B (¥EIvs-49) (2% 6=12)
31 fA"Cy =5 x"P3A N BIHAFADI
[f"C4 =5 x"P3, find n.
32. 9 fAi1fer’d (Evaluate)

5 10 8
‘ 4 3 2 ‘
7 9 8
33. A AT @ (Integrate)
J‘ dx (x<5)
25 —x2

34. 52 ORI AT RIS U TG 4 U I o Wid ofF D1 TG R g 2

What is the probability of drawing a Queen in a draw from a pack of 52 cards?
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35. UH ST GRI 3P, IO Td Si=md § UTedieh shHRI: 75, 92 TUT 49 § Al SUHT 3HRId UTdich
AT |
The marks obtained by a studentin English, Mathematics and Economics are
75,92, and 49. Find its Average score.

13
—32

37.°f¢(If)A={3,5,7,9},B={6,8,10}dI(then find) A U B I@ &I

36. TR (If) A= [i |dra" s (then find A')

38. If Aand B are two events such that P(A) =1/4, P(B) =1/2and P(ANB) =
1/8, then find P(not A and not B).

afe A iR B a1 &Y weard %‘fﬁﬁP(A)=i, P(B)=%3ﬁ?P(AnB)=
1/8 I P( A-&1 3R B-7&l) sTa BIfvTg |

Section-C (TIvs-) (3% 6=18)

39. gfe; fareftamTaR oft &1 8 a7 3R 25 a7 UG HH: 15 3R 49 § Al e IS 3R TR Td I |
If 8" and 25" term of an A.P are 15 and 49 respectively then find its firstterm and
common difference.
2 6 .
40. AR |2 5]wwwﬁ|

. . . [2 6
Find th f Mat )
ind the inverse of Matrix [3 c
41. 520 TfFT b THE | 360 HId [e-atayl 130 Had Sl Sl Thd g | foha aafad iRt 3R 3l gt
EIGK K
Ina group of 520 persons, 360 can speak only Hindiand 130 only English. How many
persons can speak both Hindi and English?

42. x & g sfama i (Differentiate with respect to x).

(x—=3)(x+2)
X

e(n—-1)
I 7 dx

44. TH T4 B 3 A TS § SR gaRT e 3 1 2 A wgt aemmar g | afe gl € aofaa T
1Y T B ol 9180 o WG YRIehdl T Bifoid |
A personis known to hit the target in 3 out of 4 shots, whereas another personiis
known to hit 2 out of 3 shots. Find the probability of the target being hit at all when

they both try.

43. A A (Evaluate).
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45. T < TSN BT AR HIed 10 T 3R ITBTUNRR HIE 8 § al ST T 8D HIed I1d I |
If Arithmetic mean and Geometric mean of two numbers are 10 and 8 respectively,

find its Harmonic mean.

46. 8 3R 11 3R T UL AT Fehmed |
Find the G. P. of 8 and 11.

Section-D (T[vs-H) (5% 4 =20)
47. ﬁgéﬁﬁﬁﬂmmaﬁﬁq

Calculate median from the following data:

UTdics  (Marks) : 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45

TE B e 6 5 18 10 5 4 2 2

(Number of students)

48. BT Jui T §2 HTT 0T fIRATUT BT A Pl ARSI |

What is a time series? Explain the importance of Time Series Analysis.

49. fAg AT dhTa Sita &1 aTfes! 100 0 I & fort famar T &:

The following table shows the value of an immediate life annuity for Rs. 100 paid:

39 aul | 40 50 60 70
(Ageinyears)
BT (Annuity) 6.2 7.2 9.1 12.0

42 98 31 3P e aitie! Fasivm|

Interpolate the annuity for the age of 42.

50. HG A (Integrate)
(i). flogx dx  (i). [ x+vx—1dx

51. 545545554 i iirereeeennn. n Uc) de BT TR JTd B |
Find the Sum to the n terms
54554555+, n

2

52. Find the differential coefficient of function xle.
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